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[Participant ID: 112039085690006
Participants Name:|RISHIKESH KUMAR GUPTA

Test Center Name: [iON Digital Zone iDZ Keshaw Puram
Test Date: 03/10/2018

Test Time: 4:00 PM - 5:30 PM

Subject: Level 1

1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the
candidate

3. The numbers indicated against the Question ID and Option ID are the numbers to be
noted and used for raising objections

Q1 v o3& 7909 ¥ 11kg # FAF 3200 ¢ 3T 6= F 15 m 39 39 BT W @ 8 5 @
TATT T el fhaer & faar (g =10ms™2)?

Ans X1.155 J
v'2 165 J
X3.150 J
X 4100 N

Question ID : 6789131861
Option 1 ID : 6789137441
Option 2 ID : 6789137443
Option 3 ID : 6789137442
Option 4 ID : 6789137444
Status : Answered
Chosen Option : 2
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Chosen Option :

Question ID : 6789131843
Option 11D : 6789137369
Option 2 ID : 6789137371
Option 31D : 6789137370
Option 41D : 6789137372
Status : Answered
Chosen Option : 4
Q3 gra ¥ FE @ TUE FN F WOTRIT 6RS T F TEATAT AT 737 o417
Ans
X drdr fEEr o
v 2 i Tefr
3.
X 5 HR.F. =S
X + ARRh wE
Question ID : 6789131888
Option 1 ID : 6789137549
Option 2 ID : 6789137552
Option 31D : 6789137550
Option 4 ID : 6789137551
Status : Answered
Chosen Option: 2
Q.4 : . .
2016 # ¥ fr® WIH & 91T SaRT Taeror &r 3arfer & T
Ans « 1. m m.r
X 2. FHRH
X 3 #Y gwrrEaT
X 4 fHEeT FHerprEr
Question ID : 6789131887
Option 1 ID : 6789137545
Option 2 ID : 6789137546
Option 3 ID : 6789137547
Option 4 ID : 6789137548
Status : Not Answered

Ans 51200 kg
X 2 200 Pa
X3200 W
v 4 200 N

Q5 faelr avg o geuAe 20 kg ¥ T2 R §EST I AT @ (take g = 10ms~? )|

Question ID : 6789131858




Option 11D : 6789137430
Option 2 ID : 6789137432
Option 3 ID : 6789137429
Option 4 ID : 6789137431
Status : Answered
Chosen Option : 4
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Question ID : 6789131884
Option 11D : 6789137536
Option 2 ID : 6789137535
Option 31D : 6789137534
Option 4 ID : 6789137533
Status : Answered
Chosen Option : 2

Q.7 The following pie chart shows the expenditure of company XYZ in Q3 2015 on various heads.

/" il /N
uo.————-*[ Srom

If company XYZ has spent a total of 100 lakh crores, then how much did it spent on salaries of employees?

Ans X 1. 10 lakh crores
< 2. 5 Jakh crores
& 3. 2.5 lakh crores
v 4 20 lakh crores

Question ID : 6789131841
Option 11D : 6789137363
Option 2 ID : 6789137362
Option 31D : 6789137361
Option 4 ID : 6789137364
Status : Answered
Chosen Option : 4

Q.8 30 =T Rl F 1 12 R F W W wHES F1 40 w10 FH B W = F e wE
T 2

Ans 1 g
X2 8
X310
X4 6




Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789131815
6789137257
6789137258
6789137259
6789137260
Answered

1

Ans ?(1TI§T~I'?ﬂ'ﬂﬂ'
X 2 HIT 9T FAR
v 2 @ AT i
X 4 gET FRETer

V° FaEd & &7 # 2017 F AR RERR FEer fo@r oo

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789131881
6789137522
6789137524
6789137521
6789137523
Not Answered

% & T st F @ e gl W e

O N VAN

A B [ D
Ans 1 A
X2D
v C
X 4B

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789131844
6789137373
6789137376
6789137375
6789137374
Answered

3

Q.1
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X
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Question ID : 6789131846
Option 11D : 6789137381
Option 2 ID : 6789137383
Option 31D : 6789137384
Option 4 ID : 6789137382
Status : Answered
Chosen Option : 1

°é1 Choose the option that is NOT true about vascular system.

Ans o 1. It forms about 1.7-1.8% of the body weight.

X 2. Blood is red vascular connective tissue.

/< 3. There is about 6.8 liters of blood in an adult person
/< 4. Life span of human RBCs is 115-120 days.

Question ID : 6789131878
Option 11D : 6789137510
Option 2 ID : 6789137509
Option 31D : 6789137511
Option 4 ID : 6789137512
Status : Answered
Chosen Option: 1
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Ans 1. d

2. a

3 h
4. g

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.




Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

6789131853
6789137412
6789137410
6789137411
6789137409

Status : Answered
Chosen Option : 4

04133Iﬁa+i =5%‘H‘ra3+$ T Hod FTE ?
ans 21120

< 2130
v': 110
X 4140
Question ID : 6789131822
Option 11D : 6789137286
Option 2 ID : 6789137285
Option 31D : 6789137288
Option 4 ID : 6789137287
Status : Answered
Chosen Option : 4
Q.1 s . -
s Hepsdl H, Afgenait A AT AUGAT HT __ TE T gl
ans X1 YYX
X2 YY
3 XX
X 4 XY
Question ID : 6789131880
Option 11D : 6789137520
Option 2 ID : 6789137518
Option 31D : 6789137517
Option 4 ID : 6789137519
Status : Answered
Chosen Option: 3
Qé1 8% WTUNUT 3T H 2T W, uasvfaﬁa% asf 7 7 924 g FT | AR F o afEr e o o
Ans X 1. 650
X2 % 675
<3 7626
v+ 7 600
Question ID : 6789131812
Option 1 ID : 6789137247
Option 2 ID : 6789137246
Option 31D : 6789137248
Option 4 ID : 6789137245
Status : Answered
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Chosen Option : 4

0%1 5.25% WURTT &< 95 a¥ Wz 3250 A aM w8 ast #_ =ore g gom |
Ans o 1.2 1,365

X 2% 1,465

X 3% 1425

X4 % 1,395

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789131809
6789137234
6789137236
6789137233
6789137235
Answered

1

U ofr 6x2 + 2kx+ k=0 F F1E g T8 & aF k FT TF FF L

Chosen Option :

Ans x 1. k < 6
K2k>6
X3ik>-86
vi0<k<6
Question ID : 6789131823
Option 1 ID : 6789137291
Option 2 ID : 6789137292
Option 31D : 6789137289
Option 41D : 6789137290
Status : Answered
Chosen Option : 1
Q§1 , e % goaw F 3 TSR @ fee ¥ deaee Teesa wT fea ar
Ans X 1. e
X 2 TErorgEe Toea
.
v 5. HEFAG-Te-J e
X 4 FogarHe
Question ID : 6789131894
Option 11D : 6789137573
Option 2 ID : 6789137576
Option 31D : 6789137574
Option 4 ID : 6789137575
Status : Not Answered

%2 31 TT 2020 *r FF T e BEU 2




e X erfeE

v 2 1872

X2 gFarR
X3 IfaEr
v 4 FETEER
Question ID : 6789131817
Option 11D : 6789137267
Option 2 ID : 6789137266
Option 31D : 6789137265
Option 4 ID : 6789137268
Status : Answered
Chosen Option : 4
Q.2 4 .
T A ﬁaﬁ#uﬁﬁéﬂﬁ#ﬁmﬁm@mﬁ o gefog g2
Ans K1 AT
v g
X s g3 A
X 4 g8
Question ID : 6789131827
Option 1 ID : 6789137307
Option 2 ID : 6789137306
Option 31D : 6789137308
Option 4 ID : 6789137305
Status : Answered
Chosen Option: 2
Qéz o & ¥ FiF & 9rg & vuw mfger o § S e F e e
Ans :
X . fog e
X 2. 37%0T 1=
v 2 &7 FTAETET
X 4 Fofa AR
Question ID : 6789131882
Option 11D : 6789137526
Option 21D : 6789137525
Option 31D : 6789137527
Option 41D : 6789137528
Status : Not Answered
Chosen Option : --
Q2 33fg Fr e IR F e v AT ¥ & g g8 o
3
Ans X 1. 1874




X 3 1873

< 41871
Question ID : 6789131874
Option 11D : 6789137496
Option 2 ID : 6789137494
Option 31D : 6789137495
Option 4 ID : 6789137493
Status : Answered
Chosen Option : 3
Q.2 e goqen(dl) 7 fewst & com ® 92 3t 39 st & o w1 S dedea(@) ¥ afFE w
4 greaa
T
1. 55 vead wrer
2. mefr wrer vEm
s
1. & ToaFd BFE §
2. FE e TeEH AGT
Ans
v 1 FFA (1) HFTEIT AT
X 2. &t (2) HFTIOT T g
X o Bt (1) T (2) 3FFEIOT FA §
K4 T T (1) TT (2) HTEIOT FLT &
Question ID : 6789131831
Option 1 ID : 6789137321
Option 2 ID : 6789137322
Option 3 ID : 6789137324
Option 4 ID : 6789137323
Status : Answered
Chosen Option : 1
Q.2 w7 Bdr O ¥ TF TUT § TR FiaT &l U Rer @, e A A R & & & w2t F e
R gE & 70 kevhr Fr TTer & SRS weat § i I Oet & A qee 3 ¥ e 37 S B
km/hr 3 Igelt &7 & =mer gl
Ans 1. 45 km/hr
v 2. 50 km/hr
< 340 km/hr
X 4 B5 km/hr
Question ID : 6789131814
Option 11D : 6789137255
Option 2 ID : 6789137254
Option 31D : 6789137253
Option 4 ID : 6789137256
Status : Answered
Chosen Option : 2
Q.2




Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

6789131818
6789137269
6789137270
6789137272
6789137271

Status : Answered
Chosen Option : 1

052 Which of the following compounds is less reactive?

Ans  of 1. Propane
/< 2. Propene
& 3. Ethene
< 4. Ethyne
Question ID : 6789131873
Option 1 ID : 6789137491
Option 2 ID : 6789137492
Option 31D : 6789137489
Option 4 ID : 6789137490
Status : Not Answered
Chosen Option : --
Q.2 :
s TF M@= & 97 Fee
A B C D
Ans x 1. B
v 2D
X3 A
X4 C
Question ID : 6789131845
Option 11D : 6789137378
Option 2 ID : 6789137380
Option 31D : 6789137377
Option 4 ID : 6789137379
Status : Answered

Chosen Option : 2




dw fdr 2545.19 ¥, a1 30= foraer OfYr 5@r =g <
Ans o 1. 2450.75
< 2. 745950
X 3. 2460.70
X 4 2448

Q.2 @ & 9w 38% #F @ # 171339 ¥ 3EA 3 T A O F Fo 7 F@ S A fw awm
9 et & 4 3 ¥ R sER ¥ 4 P, Sow s & Ad 12379 o 3R swE R g

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789131803
6789137211
6789137212
6789137210
6789137209
Answered

1

CaCO3 - heat— Ca0O+ X

V3 Crafafes TemtE ¥R & B 3ee 31 X & gofer mr §2

Ans x 1 03
X2 CO
X 3 H,O
« 4. CO'2
Question ID : 6789131871
Option 11D : 6789137484
Option 2 ID : 6789137481
Option 31D : 6789137483
Option 4 ID : 6789137482
Status : Answered
Chosen Option : 4
Q.3 A certain household has consumed 100 units in 5 days. How much energy is this when converted to joules?
1
Ans o
X136x1087
X2 360x10% 7
V'3 36x1087
X4 360x108 7
Question ID : 6789131862
Option 1 ID : 6789137448
Option 2 ID : 6789137445
Option 3 ID : 6789137447
Option 4 ID : 6789137446
Status : Answered
Chosen Option : 4

Ans

°é3 gisy F 3, e, Siers #R Shfees o ¥ Rew & e e @i




X . e ST
X 2 ATEFe e
V'3 FEANE FECH g

X4 AF AT gTHTT

Question ID : 6789131863
Option 11D : 6789137449
Option 2 ID : 6789137450
Option 31D : 6789137452
Option 4 ID : 6789137451
Status : Answered
Chosen Option : 3
Q.3 k- ;
s 1 A 2018 § UaTe F HEIAN FiT g2
Ans x 7 ﬂ i%
X 2 A o oy
X 3. geprer B TIE
v ¢ Frea AT BE
Question ID : 6789131890
Option 11D : 6789137558
Option 2 ID : 6789137559
Option 31D : 6789137560
Option 4 ID : 6789137557
Status : Answered
Chosen Option : 4
Q3 (5s5in 8+3 cos 8} 4
4 TfE 4cotf=5 & ar 27 1 AT 94T B |
(5s5in -2 cos 8}
Ans x 1. 4
V27
X3 9
X43
Question ID : 6789131824
Option 11D : 6789137293
Option 2 ID : 6789137295
Option 31D : 6789137296
Option 4 ID : 6789137294
Status : Answered
Chosen Option : 2

Q3 myy fremad 3ot wgur # veetar wmad § 6t 77 dor F andw aw wmadr S smer
5 T 9T AT E

Ans x 1 5?




Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

Question ID :

6789131893
6789137570
6789137569
6789137571
6789137572
Not Answered

°é3 The SI unit of retardation is
Ans x 1. s

v 2 ms2

X 3 ms?

K 4 mst

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789131857
6789137428
6789137426
6789137427
6789137425
Answered

2

% afger fEw 2018 # A afed [EHR FEa wrod BT 2
Ans1~?ﬁ?ﬂ'ﬁ§?{

2. gifaTr amedr

3.§mm

4 grEr Tad

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789131886
6789137541
6789137544
6789137543
6789137542
Answered

3

0{33 Meristematic tissue take up a specific role and lose their ability to divide and then form a:

Ans X1 RBC
v 2 Permanent tissue
X 3. Sieve tube cell




/< 4 Companion cell

Question ID :
Option 11D :
Option 2D :
Option 31D :
: 6789137503

Status :
Chosen Option :

Option 4 ID

6789131876
6789137501
6789137504
6789137502

Not Answered

T ?

Ans X 1. CAEVTU

Q§3 BASKET &' T& #1= T # ABKSTE ¥ &7 & fram =mar & 37 #15 omwr & ACTIVE #r % far

X 2. ACVET
v 3 CAITEV
< 4 ITCUA
Question ID : 6789131828
Option 1 ID : 6789137309
Option 2 ID : 6789137310
Option 31D : 6789137311
Option 4 ID : 6789137312
Status : Answered
Chosen Option : 3
@4 The sum of the interior angles of a regular octagon is:
Ans  of 1. 1080
< 2900
X 3. 540
X 4 720
Question ID : 6789131825
Option 1 ID : 6789137297
Option 2 ID : 6789137298
Option 31D : 6789137300
Option 4 ID : 6789137299
Status : Not Answered
Chosen Option : --
°1~4 Open market operations refers to the sale and purchase of by the RBI.
Ans 3 1. Fixed property
v 2. Government securities
& 3. Bullions
< 4 Foreign currency
Question ID : 6789131898
Option 1 ID : 6789137592
Option 2 ID : 6789137591
Option 3 ID : 6789137590
Option 4 ID : 6789137589




Status : Not Answered
Chosen Option : --

Q4w FEm & 7 : 11 F Foa & Renfed Bar 0 o7 | 59 gl TEd # 6 SisT A & s
TIA FT 5 ;7 B AT | WHiNE FEmat # ¥ g9 g Ghaer o 2

Il 38 gaY Bomsad # Sy d W A g

Ans XK1 F A ey | AT T 2 1l 3ETr wT §
X 2 Fae ey || HFEI0T FIar g

Ko fasmd | 3R 1 Qe rgEor e

v o Fae TSy | HTET FAT E

Ans { 1. 22
X2 44
X3 33
X411
Question ID : 6789131811
Option 11D : 6789137243
Option 2 ID : 6789137241
Option 31D : 6789137242
Option 41D : 6789137244
Status : Answered
Chosen Option : 1
Q.4 e YEEmEr, 48 kmvhr F S F s T 10 el F e e i S @edr §1 wfE 36 gf w8 wer
3 O R ST @Y, At Tenmer & ity a g =nge?
Ans 1. 5O km/hr
X 2. 45 km/hr
< 3. 55 km/hr
v 4 60 km/hr
Question ID : 6789131813
Option 11D : 6789137250
Option 2 1D : 6789137249
Option 31D : 6789137251
Option 41D : 6789137252
Status : Answered
Chosen Option : 4
U T =1 T Ak T & & T e § @ #a @ ey @
hA.
I g & wEAE B F ¥ s &
forser:
I gl 7 T o 3= e €




Question ID : 6789131832
Option 11D : 6789137327
Option 2 ID : 6789137326
Option 31D : 6789137328
Option 4 ID : 6789137325
Status : Answered
Chosen Option : 4
Q.4 tF R USH & [FTN & MRSV 0.5 s HOHH W A Ug ! §1 3R g = 10 ms™2 g, Tl o & T g7
5 ool entt
Ane K1 Bms2
X2 10ms—2
V'3 5msT
X4 10ms™!
Question ID : 6789131859
Option 11D : 6789137434
Option 2 ID : 6789137433
Option 3 ID : 6789137436
Option 4 ID : 6789137435
Status : Answered
Chosen Option: 3
Q.4 g
6 of I IHTd H F T e ampia & AT
A B C
Ans x 1. A
X2D
X3 B
v C
Question ID : 6789131847
Option 11D : 6789137385
Option 2 ID : 6789137388
Option 31D : 6789137386
Option 4 ID : 6789137387
Status : Answered
Chosen Option : 4

Ans X 1. Force applied

/< 3. Displacement

< 2. Angle between force and displacement

« 4 Mass of the object

Qf ‘Work done on an object does NOT depend upon which of the following?




Question ID : 6789131860
Option 11D : 6789137439
Option 2 ID : 6789137438
Option 31D : 6789137437
Option 4 ID : 6789137440
Status : Answered
Chosen Option : 4
s 3 F uEeT few @ AR 39 @ U9 & e R S
Ans x 1. H2
v 2 Ny
X 3 Clp
X4 0s
Question ID : 6789131870
Option 11D : 6789137479
Option 2 ID : 6789137477
Option 31D : 6789137480
Option 4 ID : 6789137478
Status : Answered
Chosen Option : 2
°§4 1, 8, 27, 64, .5 | -
TEIT HEeT H ocd UET ¢
Ans X1.180
X2 128
X 3120
v 4125
Question ID : 6789131836
Option 1 ID : 6789137344
Option 2 ID : 6789137343
Option 31D : 6789137342
Option 4 ID : 6789137341
Status : Answered
Chosen Option : 4

e K. gy e

X 2 ST e

v o g Ty Heamar
X o Yar sfEm

Q5 2018 # Fewr & AT TgEly K 7 F e F 7w oy g fRn B2

Question ID : 6789131892
Option 11D : 6789137567




Option2 1D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6789137565
6789137566
6789137568
Not Answered

Q.5 1 TF 104 e &F AN H KA §| TF T O F g SN a%F e I AN 99w 3 = T
T s & 208 e &1 g v e F 79w ¥ SEE MR T WE S

Ans "
X1oms 1

—E
V2 347 ms
=E
X3 30 ms
=E
X4 25 ms
Question ID : 6789131856
Option 11D : 6789137423
Option 2 ID : 6789137422
Option 3 ID : 6789137424
Option 4 ID : 6789137421
Status : Answered
Chosen Option: 2
Qé5 ST g EOT # @ I uEr A 9:30 % WAT E@E &ar ¥ at aredtes dil W ouE & wE §Hg a4
grm?
Ans1. 41 : 30
2.8 :30
36 : 30
4.3 :30
Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 6789131849
Option 11D : 6789137396
Option 2 ID : 6789137394
Option 3 ID : 6789137393
Option 4 ID : 6789137395
Status : Answered
Chosen Option : 4

Y for # ¥ weifue sugwa 39 M@ g
EEIGEE IR R EGIGRCI CREGIGE

Ans

v a8




X s
X a4
Question ID : 6789131852
Option 11D : 6789137408
Option 2 ID : 6789137407
Option 3 ID : 6789137406
Option 4 ID : 6789137405
Status : Answered
Chosen Option : 1
Q.5 v dex 2,8,8,2 Fr gl TAMpRT H WY HET F @ T AYFF =T aROT F 78 g
4
Ans of 1. 4
X223
X312
X410

Question ID : 6789131875
Option 11D : 6789137500
Option 2 ID : 6789137499
Option 3 ID : 6789137497
Option 4 ID : 6789137498
Status : Answered
Chosen Option : 2

T Lo Rl B W owew WL e ¥ w e wa d2
me

X2
x s
x4

Glm NI s

v

Question ID : 6789131805
Option 11D : 6789137219
Option 2 ID : 6789137217




Option 31D : 6789137218
Option 4 ID : 6789137220
Status : Answered
Chosen Option : 1

—® o— o~ ¢ | T

12 A B C D
Ans 1 B
v A
X3 C
X4D

Question ID : 6789131855
Option 11D : 6789137418
Option 2 ID : 6789137417
Option 31D : 6789137419
Option 4 ID : 6789137420
Status : Answered
Chosen Option : 2

S B6kg5g="7?

Ans X1 6.5 kg
X 2. 0.65 kg
v 3 6.005 kg
X 4. 6.05 kg
Question ID : 6789131804
Option 11D : 6789137213
Option 2 ID : 6789137216
Option 31D : 6789137215
Option 4 1D : 6789137214
Status : Answered
Chosen Option : 3
Q.5
8 _ #HErag e g
Ans
X 1. FATT <gS

X 2. =ags ATeaT
< 3. arafrarer
v o arstrerr 3T

Question ID : 6789131879
Option 11D : 6789137516




Option2 1D :
Option31D:
Option 41D :
Status :

Chosen Option :

6789137513
6789137514
6789137515
Not Answered

Ans o 13T TEEeEH

045 for & ¥ former TeaTH # Dr. AP.J. Abdul Kalam THRS 1 3cumes fram?

X 2 qUTE FESH
X 3 . JelTEaTAT
X4 Aeg A
Question ID : 6789131891
Option 11D : 6789137562
Option 2 ID : 6789137561
Option 31D : 6789137564
Option 4 ID : 6789137563
Status : Answered
Chosen Option : 4
066 o T o = Rrow &9 §et § O vade seeiEat F e T 99w o g ¥
Academy | 2012 2013 2014
A 2 3 4
B 1 5 2
[ 53 3 7 9
mmﬁﬁm‘s‘@mmqw?rﬁmﬁf@mwm?ﬂ?
Ans x 1.9
X225
v 8
X 41
Question ID : 6789131840
Option 11D : 6789137360
Option 2 ID : 6789137359
Option 31D : 6789137358
Option 4 ID : 6789137357
Status : Answered
Chosen Option: 3

Ans of 1. 15
X213
<316
<418

%W & T gEmmt F A Hr T T AT
16 27, 10,48, 13, 13, 16, 20, 12 11, 15




Question ID : 6789131821
Option 11D : 6789137283
Option 2 ID : 6789137281
Option 31D : 6789137282
Option 4 ID : 6789137284
Status : Answered
Chosen Option: 1

Y e § ¥ o P = AE E?
At X Brere wEETE

X2 3rm Fr afdg

X 3 e afee

v 4 e

Question ID : 6789131864
Option 11D : 6789137453
Option 2 ID : 6789137454
Option 3 ID : 6789137455
Option 4 ID : 6789137456
Status : Answered
Chosen Option : 4

3 o wRaT B

Ee
|. gt o= T #
Il.5e o e g &

ICioaH
1. @ T Ty F
2. Fo o= @y R amr

Ane X1 Frger TrSRY 1 T 9T FIAT B
X2 2t 1 3t 2 &7 g w1 B
X 3 Fad SHEY 2 & 9T FLGT
Vigar sk T & 2 F 9T FTr £

Q.6 v v Fux 3T T # oo @ 99 3 78 Tua B F @ ey s w9 @ wus #7

Question ID : 6789131829
Option 11D : 6789137313
Option 21D : 6789137314
Option 31D : 6789137315
Option 41D : 6789137316
Status : Answered
Chosen Option : 4
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Question ID : 6789131896
Option 11D : 6789137581
Option 2 ID : 6789137583
Option 3 ID : 6789137582
Option 4 ID : 6789137584

Status : Answered
Chosen Option: 3
Qé" Ohm’s law states the relation between and
Ans X 1. electric charge, time

< 2. potential difference, electric charge

' 3. potential difference, electric current

< 4. electric current, electric charge
Question ID : 6789131866
Option 11D : 6789137464
Option 2 ID : 6789137463
Option 3 ID : 6789137462
Option 4 1D : 6789137461

Status : Answered
Chosen Option: 3

6
Ans 1. Joseph Proust

X 2. Jacques Charles
< 3. Robert Boyle
4 Albert Einstein

Q.6 Which of the following scientists showed that matter can be transformed into energy and energy into matter?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6789131867
6789137468
6789137465
6789137466
6789137467

Not Attempted and Marked For Review
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Question ID : 6789131807
Option 1 ID : 6789137227
Option 21D : 6789137226
Option 31D : 6789137225
Option 41D : 6789137228
Status : Answered
Chosen Option : 2
Qé(’ does NOT react with Dilute HCL.
Ans 1. Magnesium
« 2. Copper
& 3. Aluminium
X 4 Zine
Question ID : 6789131872
Option 11D : 6789137485
Option 2 ID : 6789137486
Option 3 ID : 6789137487
Option 4 ID : 6789137488
Status : Answered
Chosen Option : 2
%¢ Find the number of pentagons in the given figure.
Ans X116
v 212
X34
X 48
Question ID : 6789131850
Option 1 ID : 6789137397
Option 2 ID : 6789137398
Option 31D : 6789137399
Option 4 ID : 6789137400
Status : Answered

Chosen Option : 3
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Question ID : 6789131833
Option 1 ID : 6789137329
Option 2 ID : 6789137332
Option 31D : 6789137330
Option 4 ID : 6789137331
Status : Answered
Chosen Option : 4
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Ans X 1. GRHS
X 2 GSHT
Vs GTHS
X 4 GWHX
Question ID : 6789131839
Option 11D : 6789137356
Option 2 ID : 6789137353
Option 31D : 6789137354
Option 4 ID : 6789137355
Status : Answered
Chosen Option : 3
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Ans X 1. NaCO;
X 2 NaoCOso
X 3. Na3CO»
W 2+ NasCOs
Question ID : 6789131868
Option 11D : 6789137469
Option 21D : 6789137470
Option 31D : 6789137471
Option 41D : 6789137472
Status : Answered
Chosen Option : 4
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789131830
6789137320
6789137319
6789137318
6789137317
Answered

2
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Ans < 1.0.894

2 2 0.598
V'3 0.948
< 4 0.958

Question ID :

Option 1 ID
Option 2 ID

Option 4 ID

6789131806

1 6789137223
1 6789137224
Option 31D :
: 6789137222

Status :
Chosen Option :

6789137221
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1
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Question ID : 6789131848




Option 11D : 6789137392
Option 2 ID : 6789137390
Option 31D : 6789137391
Option 4 ID : 6789137389
Status : Answered
Chosen Option: 2
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688, 426, 542, 268
Ans o 1. 268
X 2 542
<3 426
X< + 688
Question ID : 6789131838
Option 11D : 6789137352
Option 2 ID : 6789137351
Option 31D : 6789137350
Option 4 ID : 6789137349
Status : Answered
Chosen Option : 1
Q.7 xandy. given correct to 1 decimal place, are given as 4.5 and 2.4 respectively. What is the upper bound of the value of
7 x—y?
Ans 1. 225
2. 22
3. 2.15
4 2.1
Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 6789131808
Option 11D : 6789137232
Option 2 ID : 6789137230
Option 3 1D : 6789137231
Option 4 ID : 6789137229
Status : Answered
Chosen Option : 4

Q.7 The following pie diagram shows information on the sales of different types of food items by restaurant XYZ.

Chinese
other baked
items & burger
Sandwich »
pizza

donuts

The total revenue made by the restaurant in NOV 2017 was Z 35 lakhs.
‘What type of food items offered has given least revenue to the restaurant XYZ?

Ans o 1. Chinese food items
/< 2. Burgers
3. Sandwich
/X 4 Donuts




Question ID : 6789131842
Option 11D : 6789137368
Option 2 ID : 6789137365
Option 31D : 6789137367
Option 4 ID : 6789137366
Status : Answered
Chosen Option : 2
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Question ID : 6789131837

Option 11D : 6789137347

Option 2 ID : 6789137346

Option 31D : 6789137348

Option 4 ID : 6789137345

Status : Answered
Chosen Option : 4
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Question ID : 6789131877
Option 1 ID : 6789137507
Option 2 ID : 6789137508
Option 3 1D : 6789137506
Option 4 ID : 6789137505
Status : Not Attempted and Marked For Review
Chosen Option : --
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Question ID : 6789131883
Option 11D : 6789137532
Option 2 ID : 6789137529




Option 31D : 6789137530
Option 4 ID : 6789137531
Status : Answered
Chosen Option : 4
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Question ID : 6789131834
Option 11D : 6789137336
Option 21D : 6789137333
Option 31D : 6789137334
Option 41D : 6789137335
Status : Answered
Chosen Option : 3
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Ans {‘ 1. 30
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Question ID : 6789131851
Option 11D : 6789137403
Option 2 1D : 6789137402
Option 31D : 6789137404
Option 4 ID : 6789137401
Status : Answered
Chosen Option: 1

% T # ¥ AT Wy S # T 9y 2




Ans J1¥EUT317T
X 2 wep T arer =
Xa.ﬁ‘&iﬂ'

X4 Fer

Question ID : 6789131897
Option 11D : 6789137588
Option 2 ID : 6789137587
Option 3 ID : 6789137585
Option 4 ID : 6789137586
Status : Not Attempted and Marked For Review
Chosen Option : --

08 afr 31%23=713, af 310% 0023 = ?
ans X 1.0.713
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v's 7.13

X 4 0.0713

Question ID : 6789131802
Option 11D : 6789137206
Option 2 ID : 6789137205
Option 31D : 6789137207
Option 4 ID : 6789137208
Status : Answered
Chosen Option : 3

Q8 Ampere is the SI unit of :

Ans  of 1. electric current

X 2. electric charge

/< 3. potential difference
4 resistance

Question ID : 6789131865
Option 11D : 6789137459
Option 2 ID : 6789137458
Option 3 ID : 6789137457
Option 4 ID : 6789137460
Status : Answered
Chosen Option: 1

%8 Which of the following will give a terminating decimal?
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72

X2 2




72
=
72

Question ID

Option 1 ID

Option 2 ID

Option 3 ID

Option 4 ID

16789131801
: 6789137204
1 6789137202

1 6789137201
: 6789137203

Status : Answered
Chosen Option : 1
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Ans X1.1.1 em
v 212 cm
<310 ecm
/< 49.0 cm

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status:

Chosen Option :

6789131816
6789137263
6789137264
6789137262
6789137261
Not Answered
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Question ID : 6789131900
Option 1 ID : 6789137597
Option 2 ID : 6789137600
Option 31D : 6789137598
Option 4 ID : 6789137599
Status : Answered
Chosen Option : 1
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

6789131895
6789137578
6789137580
6789137579
6789137577

Status : Answered
Chosen Option: 2
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Question ID : 6789131854
Option 11D : 6789137415
Option 2 ID : 6789137414
Option 31D : 6789137416
Option 4 ID : 6789137413
Status : Answered
Chosen Option : 3
Q.9 Who was honoured with the Lata Mangeshkar Lifetime Achievement Award 2016 by the Maharashtra Government?
2
Ans X 1. Nadeem-Shravan
/< 2. Lakshmi Kant
/< 3. Bappi Lahiri
« 4 Uttam Singh
Question ID : 6789131885
Option 1 ID : 6789137537
Option 2 ID : 6789137540
Option 31D : 6789137538
Option 4 ID : 6789137539
Status : Not Answered
Chosen Option : --
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Question ID : 6789131899
Option 11D : 6789137596
Option 2 ID : 6789137593
Option 31D : 6789137595




Option 4 ID : 6789137594
Status : Answered
Chosen Option : 4
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Question ID : 6789131819
Option 11D : 6789137276
Option 2 ID : 6789137273
Option 3 ID : 6789137274
Option 4 ID : 6789137275
Status : Not Attempted and Marked For Review
Chosen Option : --
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Question ID : 6789131869
Option 11D : 6789137473
Option 2 ID : 6789137474
Option 31D : 6789137475
Option 4 ID : 6789137476
Status : Answered
Chosen Option: 1
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Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

: 6789131889
: 6789137555
: 6789137554
: 6789137553
: 6789137556
: Not Attempted and Marked For Review
Chosen Option :

7 dimensions of the cuboid?

Ans X 1. 30cm X 40em X 50cm
v 2 20cm X 30cm X 50cm
/<3 20em x 40cm X 50cm
X 4 20ecm % 30cm X 40cm

Q.9 The dimensions of a rectangular box are in the ratio 2 : 3 : 5. Ifits total surface area is 6200 sq.cm., then find the

Question ID : 6789131820
Option 11D : 6789137280
Option 2 ID : 6789137278
Option 3 ID : 6789137279
Option 4 ID : 6789137277
Status : Answered

Chosen Option : 2
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Ans o 1. Pound
#< 2 Yen
< 3. Dinar
< 4 Lira
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Question ID : 6789131826
Option 11D : 6789137301
Option 2 ID : 6789137302
Option 31D : 6789137303
Option 4 ID : 6789137304
Status : Answered

Chosen Option : 1
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789131835
6789137339
6789137337
6789137338
6789137340
Answered
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :
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Answered
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